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ENGLISH VERSION

Instructions : (1) Each question carries equal marks.
(2) Attempt any four questions.

1 (a) State uses and properties of Normal distribution. 10
(b) For a normal distribution sum and difference of 7.5
third and first quartile are 80 and 20 resp. Find
parameters of Normal distribution.

2 For a Normal distribution 10.3% values are less than 17.5
25 kg and 97% values are less than 70 kg. Obtain the mean
and S.D. of normal distribution.

3 (a) Explain components of time series data. 10
(b) Find the linear trend for the following data : 7.5
Year | 1988 1990 1992 1994 1996
Profit| 10 11 13 22 24
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4 Find seasonal fluctuations : 17.5

Year Q, Qs Qs Qy

1980 30 35 36 38

1981 40 45 60 70

1982 76 80 90 95

1983 85 80 70 75
5 (a) Explain stratified random sampling method. 10
(b) 3,4,8,9,11 are the observations of a population. 7.5

Obtain all possible samples of size 2 without
replacement. Verify the following results :

-\ = - N-n §°
O E(y)=Y @ 7(y)=lkE
n
6 Find the missing values. 17.5
| Numbers | Mean | SD
Group 1 - 110 6
Group 1II 40 - 5
Group III 80 112
N = 150, ¥, = 120, V(Vsr) = 15
7 (a) Explain types of association of attributes. 10

() N = 1000, (A) = 300, (B) = 450, (aB) = 350. Find 7.5

the types of association of attribution between A and
B. (Method of proportion).

8 Particulars Boys Girls 17.5
Total 1000 400
Married candidates | 350 250
Married and
Successful 270 220
Unmarried and
successful 550 120

Find coefficient of association between married candidates
and their success.
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